System Verilog

Exercise 1: Whatare the packed and unpacked dimensions of each
declaration?

module ex12 ; = cloa
initial begin pacled or v o )
logic [3:0] x ; : v
logic signed [15:8] vy ; ! - 2
logic [3:8] [7:0] z [15:0] ; 25‘_%“_6\2 <stze ? %: '—\\4_ &'SV\'{-
- -4
X = 4'b81xz ; // N = \ N
x=-1+0; [/ x=15 -0
1 o
AW
y=ol+ashe; //ys-2 MNP T 32
X =y 5 /] x=14 ni
Z?Q—'\ ‘i\“.(' e -
z[0] = '1 : // z[81=4294967295 = | @60 GOON gool

) z[0] = {4{4'b1}} ; /] z[0]1=4369 é————‘i“ 1
)t —>z[e] (0] =1; /] z[e]=4497 PR AN T
z[15:0T ="{16{z[01}},; // z[§]=ﬁﬁ22

o X>2 bds
Zfojjztoja"' }
{TI

end
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Exercise 2. What are the signedness, size and value of each con-
stant and each expression above?

initial bégin

logic [15:8] x ;
logic signed [15:0] vy ;

16'hfff@ ; // x=65520

X >> 1 ; [/ y=0x7ff8
signed'(x) >>> 1 ; // y=0xfff8
ly ; // y=1
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x[6:3] === 7'bl00x ; // y=1

X ==? 8'hax ; // y=1
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Exercise 3: Should each of the following nets (or variables) be de-
clared wire or reg?
module test (a,b,c,d,q) ;
dff d0 (clk,d,q) ; // assume only q is an output
assign d = a & b ;
always@* clk = a & ¢ ;
endmodule
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